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  5و  3/ يوجد مماسين عند النقطتين ذات الفاصلتين : 3

 

  

𝟒 × 𝟎. 𝟓 

 

0.5 

0.5 

01 

01 

 

 

 

01 

 

 

 

 

 

 

10 



3معادلة المماسين :                  -    5y x    :( )  

 

3 17y x    :( ') 

 / نقاط التقاطع مع المحورين :4

مع محور التراتيب :  -
7

( ) ( ) (0, )
4

fC yy
 

   
 

. 

)مع محور الفواصل :  - ) ( ) (7,0)fC xx . 

 

 

 

 التمثيل البياني:/5

 

 
 

 

 

 

 

 

 

 
 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

01 

01 

 

0.5 

0.5 

 

 

 

 

01 

 

2 3 4 5 6-1-2-3-4-5-6-7-8

2

3

4

5

-1

-2

-3

-4

-5

-6

0 1

1

x

y


	l
	correction L

